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BIOLOGICAL NCE 

1. 

Blstopore 
1s 

ne 
opening 

of 

(A) Coelom 

(B) Morula (C) Blastocoel 
(D) Archenteron 

(B) (C) alIP 
(A) (D) TAIUA 

2. Which one of the following is the infectiv stage of Malaria ? 

(A) Trophozo1te 5) Merozoite (C) Cryptozoite (D) Sporozoite 

(A) WTUG (B) AaCRT (C)TtGTCUG (D) IaITaG 

3. Final maturation of Graafian follicle and ovulation are induced by 
A FSH (B) LH 

(C)Progesterone (D) Estrogen 
(A) 47 7 5 (FSH) 

(B) R5 (LH) 
(C) tATC-Ga 

(D) TCR 

4 In which stage of Meiosis- I crossing over takes place ? (A) Leptotene (B) Zygotene C) Diplotene (D) Pachytene

(A) COi (B) TTfb (C) Tscefio D) 

Broup of interbreeding population which is reproductively isolated trom ounct suc Broup is called 

(A) Species (B) Genus (C) Class (D) Community

(A) efs 
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DNA proof reading is done by 

(B) Helicase(A) RNA polymerase 

(C) DNA polymerase (D) TopoisomerilsS 

DNA 4 RTTA 

(A) RNA fAAIET NT 
(B) Ttite T 

(C) DNA fAE N 
(D) GCTTEGAIGU T 

Surgical sterilization prevents pregnancy oy 
(A) blocking ovulation

(B) blocking gamete tansport 
(C) blocking capacitation

(D) blocking implantation

8. In meiosis, haploid condition occurs at 
(A) Anaphase-I

(B) Anaphase-Il

(C) Metaphase-11
(D) Telophase-l

? 

A) RIRO-I
(B) I9-11 

(C) DTRF-I1
(D) toteICU-I
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of aerobic respiration is called amphiboi. 

9. Which 
phase 

or 
aerobic 

respiratio 

wwwy7
(B) Terminal respination 

(A) Glycolysis 

(D) Oxidative decarboy 
(C)Kreb's cycle

(B) DiTT P 

(A) TRTAT9

(D) UTDE fET9IT

(C) 5 

10. Respiratory 
Quotient (R.Q.) of which one of the following is highest ? 

(B) Malic acid 

) Fat 
(C) Protein

(A) Glucose

(C)Tetb
D) 5f 

(B) T 
(A) 

11. The pigment responsibie o 
Poophogenetic response in p 

(B) Xanthophyll (C)Phytochrome (D) Carotene
(A) Chlorophyll 

GTBCH TO1-NATHISod 

(B) 1TCfR (C) RTDTAT (D)*ICATE (A) Ia 

4 Dumbbell-shaped guiar ells are found in which one of the following 
(B) Bean (C) Sunflower 

Wheat (D) Ground nut 

(B) 
A) (D)P 7 
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15. Mosses and Fernsarefound in moist and shady places
because

both 

ng plants a) cannot compete with sun lovius

6) do not nieed sunlight for photosynue 

require presence of water for fertilza 
ization 

depend upon microorganisms 
for the 

nutrition 

4 wnich of the following group of algae do not have eukaryotic organizationn?

(A) Red algae (B) Green algae 

(C) Blue green algac (D) Golden brown algae

(A) T CrAtR

C)TrS.qT �R (D) TGT-197E CR 

15. Xenogamy is a type of pollination involving
(A) Two genetically different plants (6) Two genetically identical plants

(D) Wind 
(C)Insects

(A) TE fSH KATSTA S 
(C) 

(D) 

16. Which of the following plant hormones plays a crucial role in organ a (A) Gibberellic Acid (B) Ethylene
ferentiation 

(C)Abscisic Acid (D) Auxin

(A) faafre sifPrs 
(B) 
D) 9 
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17 
Sexual

reprouucton 

1 
absent 

in which

(B) Nosfoc

absent in which one of the following 7 

(C) Ulothrix (D) Volvox
(A) Spurogra

(B) NostoC
()Uothrix (D) Volvox

(A) piraru

18. 
The eye" 

of potato 
1s an 

(B) accessory bud 
()adventitious 

bud (D) apical bud 

(A) axillarybud 

(D) e ga 

(B) 97673 T9 
(C) 

TP7 

(A) *F7 

19. Transport
of food material in higherplants

takes place through

(B) Transtusion tisSue

(A) Companion cells (D) Sieve elements

(C)Tracheid's 

(B) PRFU 
(A) TAA TAT 

(C) eRU 

(D) 5 

20. The point at which polytene
chromosome appears to be attached together, is calledd 

(B) Chromomere ()Centriole 
(A) Centromere 

(D) Chromocenter 

(A) PHI 
(B) NTAUT (C) ilg (D) IATCSTD

21. Cymose inflorescence is Tound in which of the following?

(A) Trifolium
(B) Brassica (C) Solamum (D) Sesbania

(A) Trifoliu 
(B) Brassica (C) Solanum (D) Sesbania 
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he process of nitrification can be described as 
22- 

A) reduction of nitrate to ammonium
(6) oxidation of ammonium to rale

OOxidation of ammonium o nitrogen
O reduction of nitrate to molecular nito 

(A) G fAeIrA f4ure 

23. Characteristically, endosperm is 
(A) haploid (B) diploid (C) triploid (D) tetraploid 

A) i#CRS
(B) 59gUS (C) acS (D) (u s 

4.n Which one of the following ways mycorrhizal assocation between plant roots an fungi both partners are benefited ? 
(A) Plant gets sugar Irom tungi and fungi gets mineral nutrnents irom planis(B) Plants and fungi get sugar from each other 
(C) Fungi get sugar from plant and plant gets mineral nutrients from tung (D) Plant and fungi get nitrogen from cach other
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25 

Select
e 

corectto0d 
chain

erass-chameleoninsect 
from the tollowing 

bird 

(B) grass10xabbil>bird 
fish

larvae

(C) 

phytopankION 
7 

20oplankton- 

(D) 
hallen 

leaves -> 

bucieTd>nseot 
larv 

(A) 

-NAER

TG7 

M 

20 

Which 

one of the 
folowing

is 
found in 

xeropthytic 

plantsa 

(A) 
Absenceof 

cholorophy 

(B) Sunken stomata

(D) Viviparous germination 

(C) Stilt root 
(B) Ra7 AIE 

(D) 959aI7 S7 

27. 
The 

ovelapping 
20ne 

of two 
ecosystems 

is caled 

(A) 

B) 
Biotype

(C) Ecotone 

(D) Ecotype

Brome 

A) 

(B) RDIE C) 

(D) D 

28. The major site of lipid 
biosynthesis 

in eukaryotic cells is 

A) 
Ribosome 

B) Nucleus

(C) Endoplasmic reticulum 
(D) Chromosome 

(A) eT 
(B) p 

(D) TATTTH 
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29. Which of the following is not a 
characteristic of insects

(B)
Three pairs of jointed legs 

(D)
Excretion by 

Malpighian ubule 
(A) Three body division 

() Two pairs of antennae 

(B) 87 T9I97
TSU BT 

(D) I 

hed ? 
wnch one of the following pairs is corectiy matcneu 

ypindle shaped body-Aquatic Adaptaton 

EXCessive perspiration-Xeric Adaptation. 

Saprophytism-Intraspecific relationship. 

D Mimicry-Fossorial Adaptation. 

(C) Tue41-3 78: 7 

31. Two pairs of wings of cockroach are on 
(A) Prothorax and Mesothorax 
(B) Mesothorax and Metathorax 
(C) Prothorax and Metathorax 
(D) Metathorax and first abdominal segment 

(A) RC 

(C) RTMSU

JENPAS(UG-2021 (Biological Sc.) 
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S2 Which of these animals has both endoskeleton and exoskeleton 

(C)Earth-worm (D) Frog8 (A) Snake (B) Tortoise 

(D) re 
(C) (A) 11 (B)

71ger Dec 33. GrassS 

Man Mice- 

Rabbit Suake 
The above represent 

(C) A population (D) Ecosystem (A) Food chain (B) Food web 

(A) E (B) 7T (C) 4 (D) SIRI 
34. Neurogenic heart is found in 

(A) Birds B) Human 
(C) Insect 

(D) Fish 

(A) (B) 
C) T 

(D) 

35. In which of the following organisms, self-fertilizati 
is seen ? (A) Liver fluke (B) Earthworm

(C) Round worm 
(D) Fish 

(A) rera F (B)
(C) T4 

(D) 
JENPAS(UG)-2021 (Biological Se.) 
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ch of the following has a closed type of circulatoy Syostem 7 

(D) Cockroach(A) Fish 
(C)Mollusca

(B) Scorpion 

(A) 
ATT (D) CTAI (B) 

he number of spiracles in Cockrouch (A) 8 pairs 
(C) 10 numbers 12 pairs(B) 10 pairs 

(A) 8 tTST 
(C) 1015 (D) 12 TTS (B) 10 119 

S8. Sound producing organ of peikoo called 
(A) Syrinx 

(B) Vocal cords (C) Pharynx (D) Larynx 

(A) Tfae 
(B) SreTI (C)T (D) 

39. External ear (Pinna) is absent in 
A) Bat 

(B) Kangaroo(C) Camel
(D) Duck bill platypus 

(A) 
(B) I1T 

(C)B 

40. The characteristic larva of phylum 'Coelenterata' is 

(A) Trochophore (B) Rhabditiform C) Cysticercus 
(D) Planuila 

(D) (B) aito (C) fafFGT 
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he enzyme used in 'transcription 
(A) DNA polymerase (B) Ligase 

(C) RNA polymerase (D) Transcriptase 

(B) e 
(D) astror 

(A) T5, R, 4 AI 
(C) , , ACa

2. he pigment of blood of insect 15 

A) haemoglobin (B) xanthophyll 
()haemocyanin (D) carotene 

(C) fRTATPTU (D)IaD 
(A) ferATtfm (B) TCTR 

43. Body cavity in arthropods isS 

(A) Coelom (B) Haemocoel (C) Pseudocoel (D) Coelenteron 

(A) PT (B) TaP (C) PSTs (D) IO4 

44. Which of the following is not a livingfossil ? 

(A) Peripatus (B) King Crab (C) Sphenodon (D) Archaeopteryx 

(A) TacD (B) S (C) (TSA (D) TRE 

45. A proenzyme secreted by pancreas is 

(A) Lipase (B) Amylase 

(C) Trypsinogen (D) CarboxypeptidasSe 

(B)4T (A) T 

(C)MicITSTA (D) ACMDRTSR
JENPAS(UG)-2021 (Biological Se.) 13 
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(D) Z-lines

46. Sarcomere 1s the part 
between 

two 

(C) -bands 

(A) H-lines 
(B) A-lines

(D) Z-taT

(C) 1-7 

(A) H-a 

47. Which of the following hormo 
is 

not 

secretedby human 
placenta 

(B) A-d 

(D) LH 

(A) HCG 

(C) Progesterone 

(B) Estrogens 

(D) LH 

(A) HCG 

C) eT6 

(B) G 

48. Which of the following hormones induces contraction 
of uterine

wal durihg 
child birth 

? 

(A) Oxytocin 
(B) Parathorm 

(C) ThyToxine 
(D)Somatotropic hormone

(A) f 
(B) TITAI

(C) Taf3 
(D) CRIDLT RAAT 

. Breathing rate in mammals is controlled by a part of the brain called 

(A) medulla oblongata (B) cerebrum

(C)hypothalamus (D) cerebellum 

(A) CHy STOT (B) 7RS 

(C) TtTeTETAIT (D) TARE 

50. Simple squamous epithelium is found in 
(A) bronchi (B) trachea

(C) alveoli (D) bronchioles 

(A) a5RTU (B) AFtgS
(C) tssfig (D) a -

d 

JENPAS(UG)-2021 (Biological Sc.) 14 


